INTEMERATE  THE COMPARATIVE OF EQUALITY TEVER®  THE COMPARATIVE OF EQUALITY INTERMEDIATE

1) adjective In negative sentences:
as + + as
adverb not as + | adjective + as
(not so) adverb UNIDAD

| am as tall as you.
My car isn’t as expensive as this one.

He is as intelligent as his sister.
They aren’t as old as us.

She came as late as last week.

N ——
WTERRERSE  THE COMPARATIVE OF EQUALITY ITERRERE®  THE COMPARATIVE OF EQUALITY

In negative sentences:

not as + | adjective + as
(not so) adverb Susan is very pretty.

Betty isn't so pretty {asSusan).

My computer isn't as good as this one.
My computer isn’tgood as this one.
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INTERMEDIATE NTERMEREEE THE COMPARATIVE OF EQUALITY " THE COMPARATIVE OF EQUALITY
2) as much + uncountable noun + as In negative sentences:
as many + countable noun + as
UNIDAD 54 not as/so much + uncountable noun + as

not as/so many + countable noun + as
She has as much free time as me.
There are as many oranges as in

the other shop. He’s rich. | don't have as much money (as him).

There aren’t so many bananas as yesterday.

" Vocabulary: AT THE FRUIT SHOP " Vocabulary: AT THE FRUIT SHOP

orange grapefruit pear Examples:

apple coconut pineapple

apricot mango plum The lemons are as expensive as the apples.
peach lemon strawberry
banana lime kiwi fruit Apricots aren’t as big as peaches.
cherry melon fig

grape watermelon There aren’t as many melons as pears.
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Completar los espacios con la opcién correspondiente. INTERMEDIATE

\,wd
o There wasn’t ..o o Is money .................. important

milk shake forthem. =7 e, love? UNIDAD 54

a. so much a. as much, as 8

b. so many b. so much, as G

C. as many c. as, as p—t

QO

5

e Apples are .........oeeeenl Cheap e Yesterday the doctor visited a

.................. strawberries. cerverreeerenen. pAtients ........o..........
a. as, so today.

b. as, as a. so many, as

C. SO, as b. as much, as

c. as many, as
a. so much, as £

b. as much, so %

C. SO, as #
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m Elegir la oracién correcta en cada caso.

G a. There are as much peaches Q a. | don't like it so much.
as pineapples. b. | don't like it so many.
UNIDAD 54 y
b. There are as many peaches c. |don't like them so many.
as pineapples.
@ The(e are so many peaches @ a. My parents don’t have
as pineapples. as much money so yours.
o ) i b. My parents don’t have
€) a. His sister is as old as mine. s0 much money as yours.
b. Her sister is so old as mine. c. My parents have so much
c. Your sister is as much old money as yours.
\ as mine.
4. 0 a. That day wasn’t so much sunny

as the day before.

b. That day wasn’t so sunny
as the day before.

c. That day was so sunny =
as the day before. 1N
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